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Nature of the Roots

For each of the following, find the discriminant, the nature of the roots, and the number of

x-intercepts. \
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5. If the discriminant of a quadratic equation is 47, what is the nature of the roots?

1) real, rational, and equal
2) real, rational, and unequal j’m
éeal, irrational, and unequal

) imaginary

6. If the discriminant of a quadratic equation is -8, what is the nature of the roots?
1) real, rational, and equal

2) real, rational, and unequal :‘j ) =0

3) real, irrational, and unequal

¢Dmaginary

) real, rational, and equal
real, rational, and unequal T(-.)_(Sﬂ
3) real, irrational, and unequal T

4) imaginary

@the discriminant of a quadratic equation is 0, what is the nature of the roots?



8. The nature of the roots of 3x?+ 9x = -27 are: _j’_ j(q ]a{ LB] (9’7)
1) real, rational, and equal ) N
2) real, rational, and unequal

’ + . g
3) real, irrational, and unequal F%K}']'Q\U‘Qf}:—“o h— ) “-9(_[3
@mginary

9. The nature of the roots of -2x* + x = ?4 are: = 3—7&2 “K‘(ﬂ =) j: (l)%‘\((‘a‘]{”(")

1) real, rational, and equal e -
2) real, rational, and unequal + ‘__q’7
3) real, irrational, and unequal -
aginary
10. The nature of the roots of 2x* = 3x + 1 are: "lsj 2 lac
1) real, rational, and equal ~3x~{ —=%x~( B ‘b ac

2) real, rational, and unequal

@Preal, irrational, and unequal Q?CQ’B &~=0O b \y(-g) ?-QLJ)(“‘”

4) imaginary 4
T

11. Which number is the discriminant of a quadratic equation whose roots are real, unequal, and
irrational? U5 Ao perfect dpe/k §
10 *50 =37

R H4 +IE

12. Which graph represents a quadratic function with a negative discriminant?

, O Yankigets

,\W/-x AN




